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BHHEENRE SFN64EE = (RS R) B 10mE BRI TS

£ b G - AR Bify #H = B @ £ # wE
EEIEE 262, 305, 377
L& (-10m) 262, 305, 377
BT 123, 625, 484
TS TRET 123, 625, 484
75 J# % GRITMER) 123, 625, 484
1-1 937&%0) HEFELF NEIOKRE 15mKE 9, 506. 00 2,374 22,567, 244
m3
1-2 95 78%Q2) HEFELF NEIOKRE 15mKE 6,337.00 2,847 18, 041, 439
m3
1-3 93 TKIE () HEFLEF NEIOKRE 15mKE 18, 463. 00 2,499 46,139, 037
m3
1-4 55 JKIE (2) HEFLEF NEIOKRE 15mKE 12,309. 00 2,996 36,877, 764
m3
THT 117,105, 264
PR ERET 6,328,310
B ERE 5,453,283
1-b B ERfE ¢ 560mm  L=6. Om 1.00 2,462,577 2,462,577
=
1-6 PEE2HEE - #E) H=0m#& 388. 00 1,980 768, 240
m
1-7 BEEZHRE - #E(2) H=2m#& 12.00 7,926 95,112
m
1-8 HERDERE - = (1) @ 560mm 393. 00 3,101 1,218,693
m
1-9 HRERE - #BE Q) @ 560mm 7.00 82,983 580, 881
m




BHHEENRE SFN64EE = (RS R) B 10mE BRI TS

4 [} IR - WAKTiE B B = B {f & £ =

1-10 JO—42 EHE - BE $1,100 L=4.5m 36. 00 9,105 327,780
m

B ERE 58, 950

1-11 BskiRERE 1,524 x 3,048 x 22 74.00 210 15, 540
m2

1-12 Bkt & 1,524 x 3,048 x 22 16. 00 1,802 28, 832
"

1-13 BskiiE 1,524 x 3,048 x 22 74.00 197 14,578
m2

IR - BIR 801,077

1-14 %R G BT As 33.00 684. 6 22,591
m

1-15 &% R AR P As 43.00 208. 1 8,948
m2

1-16 3REHk As 4.00 2,004 8,376
m3

1-17 KR 97.00 2,085 202, 245
m3

1-18 R L 84.00 3,742 314,328
m3

1-19 TRE®E () RC-40 11.00 1,584 17,424
m2

1-20 TR (2) RC-40 8.00 867 6,936
m2

1-21 LRERRaE RM-30 12.00 756.5 9,078
m2

1-22 &R (1) BAHAE 7 X3 >20mm 12.00 2,025 24. 300
m2

1-23 & (2) BAHAE 7 X3 >20mm 43. 00 1,929 82,947
m2

1-24 &R (1) BAEZRHET7 X3 213m 12.00 1,965 23, 580
m2




SHEERNRE SH6EE = BB R)MB-10mEER)EETE
4 [} IR - WAKTiE B = i £ i
1-25 &E (2) BAZNET X2 213m 43.00 1,868 80, 324
m2
a5 15, 000
1-26 05 As 10. 00 1,500 15, 000
t
TEMERT 39, 865, 148
T EMERE GLITRYERA) 39, 865, 148
1-27 TEMER (1) X ER 1, 300m3%E (=) 27, 969. 00 596 16, 669, 524
m3
1-28 LEMER (2) A B 1, 300m37E (BERA=) 18, 646. 00 1,244 23,195, 624
m3
BrteT 70,911, 806
TERERXET GITHIER) 70,911, 806
1-29 ZRERGLT TREEM  SED3, 000PSE! 27, 969. 00 2,494 69, 754, 686
m3
1-30 ZEREEMFE EREEM  #HD3, 000PSEY 1.00 1,157,120 1,157,120
=
T 21, 489, 650
BEtT 21, 489, 650
E3 ) 21, 359, 650
1-31 #K— bEE 819. 00 459 375,921
m2
1-32 BE# 554 - D B> 2.00 8,919 17,838
t
1-33 BEHEik BJ7S 2.00 2,559 5,118




BHHEENRE SFN64EE = (RS R) B 10mE BRI TS

4 [} R - KT B B = B M & £ =

1-34 2 L—X) 5,108. 00 234.5 1,197, 826
m3

1-35 TR Bk 5,108. 00 381.9 1,950, 745
m3

1-36 1 (1) 23.00 6,072 139, 656
m3

1-37 £ (2) 3,243.00 816 2,646, 288
m3

1-38 12 (3) 5, 368. 00 233.9 1,255,575
m3

1-39 FEEW 4,995, 00 439.5 2,195, 302
m2

1-40 RiE 183. 00 2,085 381, 555
m3

1-41 R L 183. 00 3,742 684, 786
m3

1-42 WK — FEER 2,736.00 2,918 7,983, 648
m2

1-43 A% C-40 3,415. 00 739.5 2,525,392
m2

BEHas 130, 000

1-44 BE#tAL5> B73 2.00 65, 000 130, 000
t

RE&ET 84,979

I 26, 046

JxURAHE - &R 26, 046

1-45 7= o R#E 2.00 3,937 7,874
m

1-46 7z > X#&IR 2.00 9,086 18,172
m




BHHEENRE SFI6EEFE = 5t (B AL BOMER (- 10m) (K B)R R T E

£ 5 R - ARk B H 2 B & # wm =
RBEET 58,933
RBFEERHEE 58,933
1-47 KBFEZREE 1.00 58,933 58, 933
=
HERSEEGFEL) 132, 968, 649
HiB R 132, 968, 649
HEREE 132, 968, 649
Eiff - Z WRE 124,728,174
[l 124,728,174
1-48 EIfE (1) 57377 B (K@t ) $MD23. om3  EHERE~= 1.00 16, 966, 680 16, 966, 630
it () &
1-49 [EfiE (2) 1ML E M (ZEA) 801, 300m3%8) x 1£5] EE~ 1.00 5, 806, 304 5,806, 304
=it (ERR) -
1-50 [EI#iE (3) 1R LB MR (ZEA) 881, 300m3%8) x 1£5] =ik~ 1.00 5, 806, 304 5,806, 304
HWE (B IEI
1-51 [EfE 4 1R LB M (ZEA) 801, 300m3%8) x 1£5] EE~ 1.00 5, 806, 304 5,806, 304
=it (ERR) -
1-52 [EIfi%E (5) 1R LB MR (ZEA) 801, 300m3%8) x 1£5] =ik~ 1.00 5, 806, 304 5,806, 304
HWS (B IEI
1-53 [EIfiZ (6) 1A E AN (BRA) g1, 300m3%E) x 1£38| FHP9EE 1.00 7,064, 565 7,064, 565
~ =t () -
1-54 EIfE (7) AT E M (BRA) 81, 300m3%E) x 1£38| FHP9EE 1.00 7,064, 565 7,064, 565
~ =t () -
1-55 [EIffi%E (8) ZEREEM  SED3, 000PSE! KRR~ =ithi& (F1%) 1.00 35,203, 574 35,203, 574
=
1-56 [EIfE (9) ZREERR  SAD3, 000PSE! = thifk ~ KPR (HEX) 1.00 35,203, 574 35,203, 574
=




BHHEENRE SFN64EE = (RS R) B 10mE BRI TS

£ b R - AR Bify #H = B @ * H =
EfRE 1,876, 055
R EE M 1,876, 055
1-57 HEREEM (1) BEFLE ¢ 560mm  L=6. Om%E (118) JdthMHERR 1.00 1,179, 250 1,179, 250
~KE@ET .
=
1-58 HERLEEH (2) HERDE o 560mm  L=6. OmZE (1E18) Z=AMiE~XK 1.00 570, 795 570, 795
£M@E™ .
=
1-59 &+ EE K 1,524 x 3,048 x 22 (1£18) 1.00 126,010 126,010
=
EiwE 936, 148
MRE 186, 843
1-60 r#% SE (W), BE A - frE ( 4,432.00 37.14 164, 604
ﬁ'{l‘.\ﬂl m 2
1-61 &y (RFHRRE) 4,432.00 5.018 22,239
m2
MEY Y, 45,600
1-62 A& 2.00 22,800 45, 600
t
®LIkE 703, 705
1-63 fEAI 443.00 530.5 235,011
m3
1-64 LR EEME 443.00 1,058 468, 694
m3
e E 5,184,192
TEXER 5,184,192
1-65 TEEIfRM FRP D 180PS#E! mkZ8H 1.00 5,184,192 5,184,192
=




BHBEERNRE

FHOFEE = BB HEMBC-1I0MERIRETE

4 [} R - KT iE B = il * H i

"’BE 124, 080
RinF 124, 080
1-66 1ZfhE EREEM  $HD3, 000PSEY 1.00 124, 080 124, 080

%
BitEEE 120, 000
BifrE8 120, 000
1-67 FREBMAESE EREBEYRAE 1.00 120, 000 120, 000

=
EHiZHEE 4,038, 258
BIEEHE 4,038, 258
TILF E—LAIE 4,038, 258
TILFE—LAIE 3,938, 258
BI=%ME 375, 108
2-1 A=#%ME BIAE., BTHE 1.00 181, 244 181, 244

=
2-2 HHIER (1) ELAE 2% 1.00 96, 932 96, 932

=
2-3 HHIER (2) BIRAE 21EE 1.00 96, 932 96, 932

=
KER=E 1,431,473
2-4 BETR L) EIA=E 1.00 644, 030 644, 030

=
2-5 BETRX Q) BIHE 1.00 644, 030 644, 030




BHHEENRE SFN64EE = (RS R) B 10mE BRI TS

£ g R - KT BfI 8 2 B M ki £ wmE
2-6 T ILFE—LBIEA) ELA=E 0.04 776, 211 31,048
km2
2-7T R ILFE—LBIFEQ2) BIAE 0.04 2,809, 147 112, 365
km2
[5Z] 2,131,671
2-8 AIRT—HREE() ETRE 1.00 614,796 614,796
=
2-9 ART—A2EE(2) BRIAE 1.00 1,516, 881 1,516, 881
=
EEREE 100, 000
[5Z 100, 000
2-10 ¥#EBERR 1.00 100, 000 100, 000
=
B[R 267, 285
BEXHE 267, 285
TILFE—LBIE 267, 285
EEAGE 259, 500
[5Z] 259, 500
3-1 SRFTE&EFT— 2 ER 1.00 259, 500 259, 500
B
EERE 7,785
[5Z] 7,785
32 EHEARE 1.00 7,785 7,185
=




AHEERIER SHIGEERE = (LB B OB B T 56

£ b B - KT B % =2 L] ® & W=
EEIEE 262, 305, 377
BEIER 153,142,790 + 81,303, 206 234, 445,996
HBERERE GH 132,968,649 + 19,282,796 + 891,345 153,142,790
HBREE (HLE) 132, 968, 649
HBEREE (X ) 262,350,977 x 7.35% ((4.46% x1.28 +1.50% x 1.02) 19,282, 796
BSRENER 262,160,377 x 0.34% 891, 345
RiSEER 415,448,167 x 19.57% ((17.52% +1.48%) x 1.03) 81, 303, 206
TR 262,305,377 + 234, 445,996 496, 751, 373
—REBEES 496,751,373 x 13.63% (13.63% x 1.00) — 7,285 67, 699, 927
LERIE 496,751,373 x 0.04% 198,700
THAf4E 496,751,373 + 67,699,927 + 198,700 564, 650, 000
EEAEE 4,038, 258
B 4,038,258 x 72.9% — 2,148 2,941,742
REBEE 4,038,258 + 2,941,742 6, 980, 000
BB E TS 6, 980, 000
E R 259,500 + 7,785 267, 285
EEAGE 259, 500




SHBERER HHI6HE = (RS LB 10m) B R T

£ b B - BT B % =2 B @ ® & W=
EERE 7,785
T DAt R f 259,500 x 53.85% ( 35% = (1 — 35%) ) 139, 740
e i 267,285 + 139,740 407, 025
—REEES 407,025 x 53.85% (35% = (1 — 35%) ) — 6,207 212, 975
ES {id 407,025 + 212,975 620, 000
BEHEE 564, 650, 000 + 6,980,000 + 620, 000 572, 250, 000
HERERLE 572, 250,000 x 10.00% 57, 225, 000
EATISE 629, 475, 000




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-1
WM S TREN) B NEIOKRTE 15mkiH 1B&Y (2152m 3)
2 b g - BIRTE By = B O %8 W = " =
55 TREM (EEmBER) (X/8y FR) (B8 |#8D 23. 0m3
AHIER) B 1.00 4,624, 582.00 4,624,582|5.00H / 8H
S (U3 TigEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 459, 052. 00 459, 052/2.00H / 8H
MR EXENOY
% 0.50 5,083, 634.00 25,418
& B YEZERESN - 2,152.00m 3 2,374.00 5,109, 052
&5 :1-2
WM JSTRKEQ (B NEIOKRHE 15mkiH 1B&Y (1722m 3)
2 b g - BIRTE By = B O %8 W E " =
55 TREM (EEmER) (X/8y FR) (B8 |#8D 23. 0m3
AHIER) B 1.00 4,419, 186. 00 4,419, 186/4.00H / 8H
S (U3 TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 459, 052. 00 459, 052/2.00H / 8H
MR EXENOY
% 0.50 4,878, 238. 00 24, 391
& B YEZERESN 0 1,722.00m 3 2,847.00 4,902, 629
&5 :1-3
WM JSTRIEN) B NEIOKRTE 15mkiH 1H&Y (2044m 3)
2 b g - BIRTE By = B O %8 W E " =
55 TREM (EEmER) (X/8y FR) (B8 |#8D 23. 0m3
AHIER) B 1.00 4,624, 582.00 4,624,582|5.00H / 8H
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 459, 052. 00 459, 052/2.00H / 8H
MR 2E0%
% 0.50 5,083, 634.00 25,418
& B YEZERES : 2,044.00m 3 2,499.00 5,109, 052




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-4
WM JSTKRIEQ) B NEIOKRTE 15mkiH 1H&Y (1636m 3)
£ b L - BIRTiE BAf H = B %5 W = " =
55 J %M (EREmEE) (R/3y FX) (B2 #HD 23. 0m3
AHIER) B 1.00 4,419, 186. 00 4,419, 186|4.00H / 8H
S (U3 TigEMm(R/Sy FR)) $8D 2000PSE!
B 1.00 459, 052. 00 459, 052/2.00H / 8H
HEMH EXENOY
% 0.50 4,878, 238.00 24, 391
& B YEZERESN : 1,636.00m 3 2,996. 00 4,902, 629
&5 :1-5
B BERVERIE  560mm  L=6. Om 1%y
£ b L - IRTiE BAf H = B %5 W E " =
70—4 [§H54] £4.5m #&1,100mm  HERLE Z560mm
X-H 169. 20 2,760. 00 466, 992
aqr rTdLE] £1,300mm  2560mm
&-8 197. 40 1,110. 00 219,114
Berb & (SR &) £6.0m #Z560mm
X-H 2,058. 60 857. 00 1,764, 220
HEMH EXENOY
% 0.50 2,450, 326. 00 12, 251
& B 1E%HeH - 1.00K 2,462, 577.00 2,462,577
&5 :1-6
£ BELZHERE - HE0)  H-0mik 30m% Y
£ b L - BIRTiE BAf H = B %5 W = " =
FARAK *&O15cmx 1. 8m
m3 0. 40 9,625. 00 3, 850
cSwo 8tig
B 0. 40 40, 375. 00 16,150 4. 70H / 8H
HpH<I
A 0.10 26, 830. 00 2,683
LEEXS
A 1.60 22,780. 00 36, 448
HEMH EXENOY
% 0.50 59, 131.00 295
& B 1YEZHES - 30.00m 1,980. 00 59, 426




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-1
£ ELZRERE - BE(2)  H=2mik 30m% Y
2 b g - BIRTE By = B O ® W = " =
ERAK *&0O15cmx 1. 8m
m3 0. 40 9,625. 00 3, 850
mMAK
m3 1.40 14,112.00 19, 756
ERA
m3 0. 40 14,112.00 5, 644
BHHIK <O10cmx 4. Om
m3 0.90 22,050. 00 19, 845
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.60 55, 100. 00 33, 060 8H
FSvo 8tig
B 0. 40 40, 375. 00 16,150 4. 70H / 8H
BhH<T
A 0. 40 26, 830. 00 10, 732
LTEEXE
A 5. 60 22,780. 00 127, 568
MR 2E0%
% 0.50 236, 605. 00 1,183
& B 1EZHES - 30.00m 7,926. 00 237,788
&5 :1-8
£ BERERRE - BE (1) ¢ 560mm 60m% Y
2 b g - BIRTE By = B Ol ® W E " =
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.00 55, 100. 00 55,100 8H
FSvo 8tig
B 0. 40 40, 375. 00 16,150 4. 70H / 8H
LEEXS
A 5.00 22,780. 00 113, 900
MR 2E0%
% 0.50 185, 150. 00 925
& B 1YEZHES - 60.00m 3,101.00 186, 075




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-9
£ BERERRE - BE(2)  ¢560mm ED
2 b g - BIRTE By o = B 4 ) # " =
HEEE
A 2.00 30, 160. 00 60, 320
HIRIEXS
A 4.00 26, 620. 00 106, 480
LEEXS
A 6.00 22,780. 00 136, 680
Ny R0 L— UHEET] LUF50. 45m3 2.9t/ HER1RXK
B 2.00 44, 626. 00 89, 252
Ny R [EAEMER] 11%50. 28m3  HExt2:R
B 2.00 40, 163. 00 80, 326
RN 60~80kg
B 2.00 1, 669. 00 3,338
R‘EO—5 E- a1V FR) 3~4t Hexik
B 2.00 33, 697. 00 67, 394
TREMREAHRX - RO DY) 2.5m3/min  HEXH1R
B 2.00 4,718.00 9,436
MR 2E0%
% 5.00 553, 226. 00 27, 661
& B 1EZHESN - 7.00m 82, 983. 00 580, 887
&5 :1-10
£ JO—FEHRE - BE 61,100 L=4.5m 60mZL Y
2 b g - BIRTE By #H = B 4 ) # " =
B $D 20t R
B 0. 60 754, 150. 00 452, 490 8H
LEEXS
A 4.00 22,780. 00 91,120
MR 2E0%
% 0.50 543, 610. 00 2,118
& B 1YEZHES - 60.00m 9,105. 00 546, 328




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 . 1-11
2 BRI\ 1,524 x 3,048 %22 100m 24y
% b 3R - ks Bf £ B £ & & & &
HER%
A 0.152 30, 160. 00 4, 584
LU
A 0.152 28, 080. 00 4,268
TEFEE
A 0.152 22,780. 00 3, 462
N il (hR-580) 5B
B 0.152 55, 930. 00 8, 501
EME (E+FEHH)
% 1.000 20, 815. 00 205
& Hi YEZERES : 100.00m 2 210. 00 21,020
BB . 1-12
2 BEkiRER 1,524x3,048%x22 14y
% b 3R - ks Bf £ B £ & & & &
SR EH
®-H 24.000 43. 00 1,032
BiHE (EEmR) 22x1524x3048mm
® 1.000 770.00 770
HHE (F50)
= 1.000 1, 802. 00 0
& Hi 1EZHERN 1. 008 1, 802. 00 1,802




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 1-13
B EEkARIE 1,524%x3,048x22 100m2%Y
2 b g - BIRTE BT = B ® # " =
HEEE
A 0.143 30, 160. 00 4, 312
U
A 0.143 28, 080. 00 4,015
LEEXS
A 0.143 22,780. 00 3, 257
Ny (Jr-58Y) iR
B 0.143 55, 930. 00 7,997
EME (E+FEHH)
% 1.000 19, 581. 00 189
& Hi 1E%HEH : 100.00m 2 197.00 19,770
&5 :1-14
B WEMRUIET As Tmy
2 b g - BIRTE BT = B ® # " =
SRR BT As
m 1.000 684. 6 684. 6
& Hi YEZHESN - 1.00m 684. 6 684. 6
&5 :1-15
B SRR As Tm2 %y
2 b g - BIRTE BT = B ® # " =
B As
m2 1.000 208. 1 208. 1
& Hi 1E%HEH : 1.00m 2 208. 1 208. 1
&5 :1-16
B FER As Tm3HY
2 b g - BIRTE BT = B ® # " =
RIE As
m3 1.000 2,094 2,094
& B 1E%HEH : 1.00m 3 2,094 2,094




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 . 1-17
& KiE Tm3HyY
2 b g - BIRTE By = B ® # " =
73]
m3 1.000 2,085 2,085
& B S .00m 3 2,085 2,085
&5 :1-18
2% EBRL Tm3HyY
2 b g - BIRTE By = B ® # " =
HREL
m3 1.000 3,742 3,742
& B 1E%HEH : 1.00m 3 3,742 3,742
&5 :1-19
2% - T (1) RC-40 .
2 b g - BIRTE By = B ® # " =
EEE Q) RC-40
m2 1.000 1,584 1,584
& Hi E%EEN : 1.00m 2 1,584 1,584
&5 :1-20
2% : TIEBBEQ) RC-40 .
2 b g - BIRTE By = B ® # " =
TRE®REQ2) RC-40
m2 1.000 867 867
& Hi EZHEH : 1.00m 2 867 867




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-21
%5 LFERAE RM-30 Im2 3y
£ b g - BIRTE BT = B O ® # " =
Ny =530 RM-30
m2 1.000 756. 5 756.5
& Hi YEEREN :1.00m 2 756.5 756.5
&5 :1-22
£ EE() BEMEMET X3 >220mm Tm2%Y
£ b g - BIRTE BT = B O ® # " =
ZE ) BEMKET X3 >20mm
m2 1.000 2,025 2,025
= it YEEREN : 1.00m 2 2,025 2,025
&5 :1-23
£ EE Q) BEMEMET X3 220mm Tm2%Y
£ b g - BIRTE BT = B O ® # " =
£E(2) BEMKET X3 >20mm
m2 1.000 1,929 1,929
= it YEEREN : 1.00m 2 1,929 1,929
&5 :1-24
£ RE(N) BEZHETZX3213m Tm2%Y
£ b g - BIRTE BT = B Ol ® # " =
=E ) BEZBHET A3 >13m
m2 1.000 1, 965 1,965
= it YEEREN : 1.00m 2 1,965 1,965




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-25
£ REQ) BEFHETZXI213m Tm2%y
2 b g - BIRTE By = B ® W = " =
=E 2 BAEFHET X2 13mm
m2 1.000 1, 868 1,868
= H YEEREN :1.00m 2 1,868 1,868
=5 :1-26
B B As 100t &Y
2 b g - BIRTE By = B ® W E " =
N TAIZ7IL LR
t 100. 000 1, 500. 00 150, 000
& B 1EZ%HES - 100.00 t 1, 500. 00 150, 000
&5 . 1-21
& LEMER (1) WX LEfR 81, 300m3FE (FEEX) 1AHY (2080m 3)
2 b g - BIRTE By = B ® W E " =
TEMR () £11300m3%E (Z A=)
B 2.00 386, 100. 00 772, 200 |8H
i D 2000PSEY
B 1.00 462, 552. 00 462,552/2.00H / 8H
MR EXENOY
% 0.50 1,234, 752. 00 6,173
& B 1E%HEH - 2,080.00m 3 596. 00 1,240, 925
&5 :1-28
&% LEMER (2 WA LEfR 81, 300m3%E (BARA) 1BHY (1664m 3)
2 b g - BIRTE By = B ® W = " =
TERR () £1300m3%& (BHRA=C)
B 2.00 567, 600. 00 1,135, 200 | 8H
i D 2000PSEY
B 2.00 462, 552. 00 925,104/2.00H / 8H
MM ELNOY
% 0.50 2,060, 304. 00 10, 301
& B 1E%HESH : 1,664.00m 3 1,244.00 2,070, 605
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BH6FE =it BB RMBC1I0mERIZRETSE

&S :1-29
£ EREZXBLT TREEM  SAD3, 000PSHE! 1% Y (2080m3)
2 b g - BIRTE By = BHO(f ® W = " =
ERIEEM (BENFHEDR) $MD 3000PSE!
B 1.00 5,162, 819.00 5,162,819/5.00H / 8H
MR 2E0%
% 0.50 5,162, 819.00 25 814
& it YEZERES - 2,080.00m 3 2,494.00 5,188, 633
&5 :1-30
£ EREEMMER ZREEM D3, 000PSEY 1LY
2 b g - BIRTE By = BHO(f ® W E " =
ERIEEM (BENFHEDR) $MD 3000PSE!
B 0.50 2,314, 240. 00 1,157,120 #tA
& Hi 1E%HeH - 1.00K 1,157,120. 00 1,157,120
&5 : 1-31
B BKI— MEE 264m24 Y
2 b g - BIRTE By = BHO(f ® W E " =
HIRIEXS
A 1.00 26, 620. 00 26, 620
LEEXS
A 2.00 22,780. 00 45, 560
Ny IR (B A X5 RE) 1L1F50. 45m3 (FF50. 35m3)
B 1.00 48, 513. 00 48,513 5.80H / 8H
MR 2E0%
% 0.50 120, 693. 00 603
& B YEZERESN : 264.00m 2 459. 00 121, 296
&5 :1-32
& BMEA-RE BETSS 1ty
2 b g - BIRTE By = BHoO(f ® % W = " =
BEMFEIA - FariED B73
t 1.000 8,919 8,919
& &t E%REN :1.00t 8,919 8,919

10




Rifiz -/ \v7r—o

BH6FE =it BB RMBC1I0mERIZRETSE

&5 :1-33
& BB BT 1ty
2 b g - BIRTE By = B O ® # " =
B E W B73
t 1.000 2,559 2,559
& &t lES .00t 2,559 2,559
&5 :1-34
& A L—X) Tm3%Y
2 b g - BIRTE By = B O ® # " =
EA L—X)
m3 1.000 234.5 234.5
& Hi 1E%HEH : 1.00m 3 234.5 234.5
&5 :1-35
&5 . LREER Tm3%Y
2 b g - BIRTE By = B O ® # " =
TR E
m3 1.000 381.9 381.9
& Hi 1E%HEH : 1.00m 3 381.9 381.9
&5 :1-36
ZF5 FEW) Tm3%Y
2 b g - BIRTE By = B Ol ® # " =
£i2 (1)
m3 1.000 6,072 6,072
& Hi 1E%HEH : 1.00m 3 6,072 6,072
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&5 :1-37
B FE(2) Tm3HyY
2 b g - BIRTE By = B ® # " =
%17 (2)
m3 1.000 816 816
& Hi L] .00m 3 816 816
&5 :1-38
B FEQ) Tm3HyY
2 b g - BIRTE By = B ® # " =
E3-X6))
m3 1.000 233.9 233.9
& Hi 1E%HEH : 1.00m 3 233.9 233.9
= :1-39
B REER Tm234yY
2 b g - BIRTE By = B ® # " =
SEEER
m2 1.000 439.5 439.5
& i EZHEH : 1.00m 2 439.5 439.5
= : 1-40
¥ BRIE Tm3%Y
2 b g - BIRTE By = B ® # " =
73]
m3 1.000 2,085 2,085
& B 1E%HEH : 1.00m 3 2,085 2,085
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&5 1-41
2% EBRL Tm3%Y
2 b g - BIRTE By = it ® # " =
HRL
m3 1.000 3,742 3,742
& B L] 1.00m 3 3,742 3,742
&5 1-42
B BK— FEER Tm2%yY
2 b g - BIRTE By = it ® # " =
WK S — FERER
m2 1.000 2,918 2,918
& &t YEZHEH - 1.00m 2 2,918 2,918
&5 1-43
B BESE C-40 Tm2%y
2 b g - BIRTE By = it ® # " =
P E C-40
m2 1.000 739.5 739.5
& &t E%8EH 0 1.00m 2 739.5 739.5
&S 1-44
& BMOLS BT 100t %)
2 b g - BIRTE By = it ® # " =
nng B73
t 100. 000 65, 000. 00 6, 500, 000
& B 1EZ%HES - 100.00 t 65, 000. 00 6, 500, 000

13




Rifiz -/ \v7r—o
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&S 1-45
W Dz U AHE 20m¥ Y
2 b g - BIRTE By = B O ® # " =
HEER
A 1.00 30, 160. 00 30, 160
LEEXS
A 2.00 22,780. 00 45, 560
MR 2E0%
% 4.00 75, 720.00 3,028
& B 1YEZHES - 20.00m 3,937.00 78,748
&S :1-46
&M 7z REIR 10m v
2 b g - BIRTE By = B O ® # " =
HEER
A 1.00 30, 160. 00 30, 160
LEEXS
A 2.00 22,780. 00 45, 560
MR ELNOY
% 20.00 75, 720. 00 15, 144
& B 1YEZHES : 10.00m 9, 086. 00 90, 864
1-47
£ RBFEEHE 1LY
2 b g - BIRTE By = B O ® # " =
RBFEZHFEB
A 4.00 14, 660. 00 58, 640
MR 2E0%
% 0.50 58, 640. 00 293
& B 1E%Heh - 1.00K 58, 933. 00 58, 933
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&5 :1-48
£% : EfE () 557 B (EEHEA) D23 m3  {EHERE~ = hiE (1K) HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 5,300, 000. 00 5, 300, 000
EX T
= 1.00 2,080, 626. 00 2,080, 626
B
= 1.00 9, 208, 000. 00 9, 208, 000
Elf R & F
= 1.00 344,018. 00 344,018
wE%E
= 1.00 34,036. 00 34,036
& B 1YEZHEH - 1.00[E 16, 966, 680. 00 16, 966, 680
&5 1-49
L% BME Q) BiLEMR () M1, 300m3FE) x 15635 EHE~ =it (1K) HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,467, 304.00 2,467, 304
B
= 1.00 3,032, 500. 00 3,032, 500
Elf R & F
= 1.00 17, 000. 00 17, 000
& Hi 1YEZHER - 1.00[E 5,806, 304. 00 5, 806, 304
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&5 :1-50
£ : EME Q) |HMLTIEM (ZE) M1 300m3fE) x 1£3| =ithE~ENEER) HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,467, 304.00 2,467, 304
B
= 1.00 3,032, 500. 00 3,032, 500
Elf R & F
= 1.00 17, 000. 00 17,000
& Hi 1YEZHEH - 1.00[E 5, 806, 304. 00 5, 806, 304
&5 . 1-51
L% BME 4) BLTEMR () M1, 300m3FE) x 15£35] EHE~ =it (1K) HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,467, 304.00 2,467, 304
B
= 1.00 3,032, 500. 00 3,032, 500
Elf R & F
= 1.00 17, 000. 00 17, 000
& Hi 1YEZHER - 1.00[E 5,806, 304. 00 5, 806, 304
&5 :1-52
&% : EME G \MLTEM () 1 300m3fE) x 1£3| =ithE~ENEER) HEED)
2 b g - BIRTE By = B Ol ® # " =
BEE
= 1.00 289, 500. 00 289, 500
EX T
= 1.00 2,467, 304.00 2,467, 304
B
= 1.00 3,032, 500. 00 3,032, 500
Elf R & F
= 1.00 17, 000. 00 17,000
& Hi 1YEZHEH - 1.00[E 5, 806, 304. 00 5, 806, 304
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&5 : 1-53
L BE (6) 1B EM (BARA) SH1, 300m3F8) x 135 #HIFE~ =i (FR) HEED)
2 b g - BIRTE By = BHO(f ® % # " =
BEE
= 1.00 424, 500. 00 424, 500
EX T
= 1.00 2,662, 324.00 2,662, 324
B
= 1.00 3,951, 500. 00 3,951, 500
Elf R & F
= 1.00 26, 241. 00 26, 241
& Hi 1YEZHEH - 1.00[E 7,064, 565. 00 7,064, 565
&S :1-54
L% BME () \BiLEMR BREA) M1, 300m3FE) x 13|  #HIEE~ =i (FR) HEED)
2 b g - BIRTE By = BHO(f ® % # " =
BEE
= 1.00 424, 500. 00 424, 500
EX T
= 1.00 2,662, 324.00 2,662, 324
B
= 1.00 3,951, 500. 00 3, 951, 500
Elf R & F
= 1.00 26, 241. 00 26, 241
& Hi 1YEZHER - 1.00[E 7,064, 565. 00 7,064, 565
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&S :1-55
&% . BB B) ZERIEEM D3, 000PSE! KR~ =ithi# (EER) HEED)
2 b g - BIRTE By = B O ® W = " =
BEE
= 1.00 5,675, 000. 00 5,675, 000
EX T
= 1.00 5,732, 863. 00 5,732, 863
B
= 1.00 22,469, 400. 00 22,469, 400
Elf R & F
= 1.00 1,231,371.00 1,231,371
wE%E
= 1.00 94, 940. 00 94,940
& B 1YEZHEH - 1.00[E 35, 203, 574. 00 35, 203, 574
&S :1-56
L% BME (9) ZEREEM  SAD3, 000PSE! =it~ KiR# (15E%) HEED)
2 b g - BIRTE By = B O ® W E " =
BEE
= 1.00 5,675, 000. 00 5,675, 000
EX T
= 1.00 5,732, 863. 00 5,732, 863
B
= 1.00 22,469, 400. 00 22,469, 400
Elf R & F
= 1.00 1,231,371.00 1,231,371
wE%E
= 1.00 94, 940. 00 94,940
& B 1YEZHER - 1.00[E 35, 203, 574. 00 35, 203, 574
&5 : 1-57
L BEREER (1) BERDE H560mm  L=6.OmZE (1X18) JtAMTERR~KEMAT 1LY
2 b g - BIRTE By = B Ol ® W = " =
BEYBEHEESR
= 1.00 996, 400. 00 996, 400
HEIL - #EAAHER
= 1.00 182, 850. 00 182, 850
& Hi 1E%HeH - 1.00K 1,179, 250. 00 1,179, 250
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&S :1-58
2 RSB (2) HERE ¢560mm  L=6. OmZF (1X18) =AKMiiE~KEAT 14y
2 b g - BIRTE By = B ® # " =
BEYBEHEER
= 1.00 529, 359. 00 529, 359
HEIL - #EAAHER
= 1.00 41, 436. 00 41,436
& Hi 1YE%HeH - 1.00K 570, 795. 00 570, 795
&5 :1-59
B RERAMEIEW 1,524 x3, 048 x 22 (1£18) B!
2 b g - BIRTE By = B ® # " =
BEYBEHEER
= 1.00 87,514.00 87,514
HEIL - #EAAHER
= 1.00 38, 496. 00 38, 496
& Hi 1E%HeH - 1.00K 126, 010. 00 126, 010
&5 :1-60
£ BRE, £E (M), RE A TE (RE) Tm234yY
2 b g - BIRTE By = B ® % # " =
BRE £S5 (B, IBa HA = #E)
m2 1.000 37.14 37.14
& Hi 1E%HEH : 1.00m 2 37.14 37.14
&5 . 1-61
£ B GRFHRRED Tm234yY
2 b g - BIRTE By = B ® % # " =
E i GEFHERED)
m2 1.000 5.018 5.018
& Hi 1E%HEH : 1.00m 2 5.018 5.018
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&5 :1-62
2 WnE 100t %Y
2 b g - BIRTE By = B O ® W = " =
nne NE
t 100. 000 22,800. 00 2,280, 000
& B YEZERES £ 100.00 t 22,800. 00 2, 280, 000
= :1-63
L #EAI Tm3%Y
2 b g - BIRTE By = B O ® W E " =
iR El
m3 1.000 530.5 530.5
& B 1E%HEH : 1.00m 3 530.5 530.5
&S :1-64
&5 . LREER Tm3%Y
2 b g - BIRTE By = B O ® W E " =
TR E
m3 1.000 1,058 1,058
& Hi 1E%HEH : 1.00m 3 1,058 1,058
&S :1-65
L REERM FRP D 180PSE!  miZsH 1%y
2 b g - BIRTE By = B Ol ® W = " =
ZEEEMm FRP D 180PS#Y
B 50. 00 103, 168. 00 5,158, 400/6. 00H / 8H
MM 2E0%
% 0.50 5, 158, 400. 00 25,792
& B 1E%HeH - 1.00K 5,184,192.00 5,184,192

20




Rifiz -/ \v7r—o
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&5 :1-66
£ A ZRSUERM  $AD3, 000PSE EED)
% # A - Botketin By 8 B & = %
R
H 23.50 5,280.00 124, 080
a & YEZERES : 1.00L 124, 080. 00 124, 080
&5 1-67
27 HERDRAEE HEEDARZE 125y
% # A - Botketin By 8 B & = %
HERDARE
= 1.00 120, 000. 00 120, 000
a &t YEERES : 1.00L 120, 000. 00 120, 000
&5 2-1
B AEER ETHE. RTAS X4y
% # 1A - Botketin By 8 B & & = %
AR
A 1.00 54, 600. 00 54, 600
B E M
A 1.50 47,100. 00 70, 650
AR KA
A 1.00 36, 900. 00 36, 900
REMF
A 0.50 34, 600. 00 17,300
AR EY X0
% 1.00 179, 450. 00 1,794
a & EZERES : 1.00L 181, 244. 00 181, 244
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&5 :2-2
B BMERA) EIAE 2688 14y
2 b g - BIRTE By = B ® W = " =
BIEWHEE
A 2.00 25,900. 00 51,800
FSvo 2tiE
B 1.50 29, 449. 00 44,173 4.70H / 8H
MR 2E0%
% 1.00 95,973.00 959
& B 1YE%HeH - 1.00K 96, 932. 00 96, 932
&5 :2-3
B BMERQ BIAE 268%E 14y
2 b g - BIRTE By = B ® W E " =
BIEHEE
A 2.00 25,900. 00 51,800
FSvo 2tiE
B 1.50 29, 449. 00 44,173 4.70H / 8H
MR ELNOY
% 1.00 95, 973.00 959
& B 1E%HeH - 1.00K 96, 932. 00 96, 932
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&S24
ZWMBETAN) RIS B
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3, 588.00 3,588/2.00H / 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
B
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 53, 226. 00 53, 226 |8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 1.00 637, 654. 00 6,376
& B 1E%HeH - 1.00K 644, 030. 00 644, 030

23




Rifiz -/ \v7r—o
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&S :25
WM BETANQ BIANE IEED)
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3, 588.00 3,588/2.00H / 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
B
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 53, 226. 00 53, 226 |8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 1.00 637, 654. 00 6,376
& B 1E%HeH - 1.00K 644, 030. 00 644, 030
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&S :2-6

& TILFE—LABEQ)

BH6FE =it BB RMBC1I0mERIZRETSE

1H4Y (0.76km2)

% BB - KT Bifi =S B ® # mE w %
RBE S kN2 2L
=] 1.00 3, 588.00 3,588/2.00H / 8H
HIEm FRP D 70PS%Y
=] 1.00 53, 226. 00 53, 226 |8H
HE T ERER
A 1.00 54, 600. 00 54, 600
RIS BER
A 1.00 47,100. 00 47,100
B E R Em
A 1.00 36, 900. 00 36, 900
BEPF
A 0.50 34, 600. 00 17, 300
GNSSRII HE & DGNSS
=] 1.00 25, 740. 00 25,740
TILFE—LEEAFE 36~455kHz
=] 1.00 339, 900. 00 339, 900
MR EZZX0I)
% 2.00 578, 354. 00 11, 567
a & EERESN :0.76km 2 776, 211.00 589, 921
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&5 . 2-1
W JILFE—LAZEQ RBIAE 1BEY (0.21km?2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3, 588.00 3,588/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 53, 226. 00 53, 226 |8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILFE—LBERZEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 2.00 578, 354. 00 11, 567
& B EEREN :0.21km2 2,809, 147.00 589, 921
&5 :2-8
W AET—4EE(N) RBIRE 1LY
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 54, 600. 00 169, 260
RIS HRER
A 4.10 47,100. 00 193, 110
Bl S H A
A 6. 20 36, 900. 00 228, 780
MR 2E0%
% 4.00 591, 150. 00 23, 646
& B 1E%HeH - 1.00K 614, 796. 00 614, 796
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&5 :2-9
£ BET—2EEQ2) RIA=E 14y
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 5.10 54, 600. 00 2178, 460
RIS HRER
A 14.40 47,100. 00 678, 240
Bl S H A
A 13. 60 36, 900. 00 501, 840
MR 2E0%
% 4.00 1, 458, 540. 00 58, 341
& B 1YE%HeH - 1.00K 1,516, 881. 00 1,516, 881
&5 :2-10
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
&5 : 3-1
ZFF  SRFTEET T —FERK s EP
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
e (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi 1E%HEDN 1. 005EER 259, 500. 00 259, 500
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RiEFR-FET/\vr—2 S0 B = it (B IL I BOMBE(-10m)(ER BRI TE

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 7,785.00 7,785
& Hi 1YE%HeRH 1,00 7,785.00 7,785
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